daga Cilagat
Ve (£0) Glaie¥) Al S Al s -
Asdia (YA) glaied) dul S Ciladia aae -
(il gise g8 (platial) A S Ciladia de (e g AL a5 e ST -
(e lu EDE) LAY (g -
Aa o (V) DhaadU 4l s il -
s Agling lagladl) 038 T8, i) (g 30
ALY e canl W 8 ALY Aadia o el Al S dadia b6l gas 12 el ]
Ala) 8 e ad) U8 s 4 S8y ) sl 18
J) 3 JS (o Jad Ban) g didy LY ugllaall g ¢ Zliadd da e ALY
AL e alasiad aae g ocile gyl 3 byl ARl 5 ¢ AU (55 Y1 Calall Al aaai
dalidd dalall Al a5 LD daadia) dal ) 8 canl eddlial Al U elila) xie
Go SSLelila) o 5 ¢ Ll 3 GY) pa 83 gusall e 8 sy JLSE ) (S g A
Ly g Als)
rJGa

. L (B) sl (A) o cenl Ay a3 lad) Al e clils) ve
T g () e e JLEAY) Al ge dlila) aie

) s JST IS S Gl BlaY) e JIAN el s ial Jlks
e (C) dagaeall Likay) 1 e

: dagasal) 4aY)

s LAY Gt dagaia dla) Cual g Gl cud o bl Aula) ual 1Y L dlls 8-
Lot ALY Gt Uad s Gl g el cadd ¢ A s Gl 1Y Lo s -
: A sale
Al gl 3ay e S Ao Sl a5 1Y) (ddaia (a JLEAY) Ae gida pall ALiaY) Al
Ui oY) utind ¢ aY) LSS
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Base your answers on what you studied in | sLo¥13500 -2 Cew)s Lo s gis -2
Biology: P AGY) W He o

1- Choose only one question (A) or (B) and | o3 (<) 5i (1) 't gt i y5n - )

write its scientific term: rdgde JIh elalt mitaael| OS]
(A) A thin ventral bone attached to the outer | <5 ) &bl Zelae (1)
end of scapula. LS 9 £ g

(B) Group of discs which formed of thin O3S o LY (pe he gama ()
protein filaments. By Al g s dogus (pe

2- Choose only one question (A) or (B) and | :cei@d (o) of (1) (et guadt di i -¥
give an account on: 123 Aguaiall Lo

A- Interferons. Ol g TN

B- Agglutination (clumping) (G d1) LMD -

wwyjailledg o



3- Choose only one question (A) or (B) and
mention the site and the function.

(@) 91 (1) Cotht gmiat s |y =¥

1 Aadd gl g HISalt LS @D
A- Antheridium. .
. . S Y
B- Micropyle in ovule . .
An g dl o8 B -
Site Function

4- Choose only the reight answer of the
following:

- The mensterual cycle in a human female is
regulated through.

® 0 © 6

ovary and posterior lobe of pitutary
gland hormones.

Hormones of the anterior and posterior
lobes of pitutary gland.

Hormones of ovary and anterior lobe
of pituitary gland .

ovary and uterus hormones.

Lao dadd dovonall Al |y - ¢
Lol
B A ygdd) Bygull @ulal @b

paally el Slige pa @
oLt Bualy Al

ity pale¥! il Clige o @
el 3l Al

oaally et | Slige pa @
Aol Baalt ale¥!

e 9 et | Ol ga 50 @
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S- Give reason for: A blet Je -0

The human is infected by measles only one | s apastl Hlus¥f oy ¥
time during his life.

k| UEN ‘;5 PREAPY-3Y
6- What would happen when: sie Sty 130 -1
Absence of restriction endonuclease enzymes Al (ye padll Oles ol
from a strain of E. coli bacteria. Ledior st s ;S &Y Sha
Sg¥sS
*
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7- Look at the following figure then answer:

First
occur?

Second: What are the changes occur in the
structure no (4) during mensterual

cycle?

: Where does fertilization process

Loc i @ Jaldalt ST gyl -V
(b
Sl ¥ iclad Gyl ¥ o]
Gamd N Okl Lo Lals
395 LSl (8) i) syl B
@) Spauemt

3)

8- Compare between:

Aldosterone hormone and corticosterone

hormone according to their function.

(5o S (s (1318 -A
194 7 9 (09 a9 V1 (190 50
~Aals b S (4 ()9 i 985 59T

O99 e 9543 5§53 () g0 0
Corticosterone hormone

9w g3 ¥ (g0 p2
Aldosterone hormone

wjailleig o




9- Two parts of DNA molecules equal in size | dall pdi (yo (p5 5> g @3 -4
were put in two test tubes and a different 2 Jslatl dgluie DNA
enzyme is added to each of them separatly, " 3 g N 1. 5
and the results were as shown in the figure |, ke Logie US oM Cannly

LS AL COIS g calidne o 330

' sl o g0 9
E Y A
5 N ~ 1%,
+
High temperature
adle 5, >~
N N~

l l

many parts of DNA Two single strands of DNA
DNA alad (yo waati g8 DNA o 0Mniie Hllay 4o

Mention the name of the enzyme BB Jghuedt@ao¥l ol ;S5 -
(E, E,) in each case with explaniation. | sl o Wl JS 3
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10- Choose only one question (A) or (B)
then answer:

Give reason for:

A- Shortage of oxygen leads to muscle
fatigue.

B- There is a relation between the motor unit
and the skeletal muscle contraction.

6 () o1 (1) (ot st i it =0

‘e

S35 oS W g2z
L laall slga ¥

St ol! (y 483Me w45 -0
Alcaall (olily 1S st
LAt

11- Choose only the right answer from the
following:

- The (B) lymphocyte attached to its antigen
through.

antibodies.
major histocompatability(MHC)

immune receptors.

®O0eE

Lysozyme enzymes.

dazd Asmiuall Al Wi St -\ )
i Lt

VL (B) AL LSt Guaiats
Balaet! alus ¥ @

st | 3219 [y g o @

e Lo ) & LG el @
®

g gt | Slas 351
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12- Explain the following: riby Lo pud -\ Y

The human male will be sterile if the | sue OIS 3 Lade Jom 31 plias
number of sperms in each ejaculation is | 4o Axildl & giatt Sl guont!

less than 20 millions. Ligde Yo (ye 3]
13- What would happens when: s e Sy 13ke -\ ¥
Absence of regulatory nonhistone protein | ,& aedactt clicy,od! ol
from the chromosome. sl pgps (pe A gt

(pogwges,s31)
14- Give the scientific term: s olal) llaaalf 831 - €
Immune cells which have different names ol ona i Lios LSS

according to the name of the tissue where 53 5 gl | gt cosan A4S

they exist, and ready to attack any strange . = &
body near it. o é pua ¥ dalie Jlaiy 4

Lghn o yia
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15- Mention two examples of living

organisms which have haploid (N)
somatic cells.

16- Choose only one question (A) or (B)
and answer:

0955 du OLGIST [y Ilie 4830 =Y 0
rPN P PR [ VYL VP
+(0) Bhpall de ool

compare between:

A- Phenols and cephalosporin in plants.
B- receptors and antimicrobial chemicals in

plants.

() 9 (1) oVt s yis -0

o QU8 1D

B (g allacadly ¥ gt (1)
Olad!

Ailea S sl gally Ol ()
LA B a0t SLSISU Bl
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17- Only by a diagram, show the structure of
the building unit of DNA molecule and
mention its structure.

AL 511 a2 a1y g Y
gl gSe S0 s .DNA ;é’ﬁ!

18- Mention the site of secretion and the
function of (TSH) hormene

dads g9 3 a1 lse HS31 VA
(TSH) 30,

Site olse

Function zads,

19- Choose only one question (A) or (B)
and write its scientific term:

A-All the genes and all DNA in one somatic
cell of the living organism.

B- Living organisms having DNA circular in shape.

@ (@) 91 (1) ot pud) dmf 31 =14

1A iad (GII elal llaaal| LS
DNA ys Iitlyg Sligatt gs (1)
s> (ALK Gt Adstly
JSad) g 550 DNA Lgsad 2 CLSIS (o)




20- Choose only one question (A) or (B)
and explain its function:

A- Pulling roots.
B- Tenderils.

(@) 9 (1) ottt gmiaadt A § 5t =¥ e
14 A gaT (SN Holll D g @2
BaLadt yeismti (1)

Bl ()

21- Choose only one question (A) or (B)
then answer it:
Give reason for:

A- The life cycle of plasmodium malaria is
characterized by having alternation of
generations.

B- The ability of adaptation with the
environment decreases for those
individuals which produced from asexual
reproduction.

68 (0) 91 (1) G sl homl 2t =Y

t Je

JLa ¥ CBla3 5 palls gy (1)
9390 Bl 593 (2
LSt

g S e §ual| JES (o)
oo Axaldl a1, A
- i AT SIS

Vo

wjailleig o



22- Show how to obtain number of planaria
worms from only one worm.

Jg@amdl ()Sas 2S i g- VY
LoLOA Glaua (e o e
dadd duslg 8398 alusiiuwbls

23- Chosse the correct answer only from
the following

from the natural barriers which represent
the first line of defense in human is ......
histamine.
cerumen.

interleukens.

®O06

chimokines.

24- How to measure the degree of annealing
between the two strands of hybrid DNA?

\R

wwyjailledg o

dadd Aovouall Al i -YY
1ok Lee
o L AuaBdB S 1goutt (ye
o 2 Jo¥ pland | das Jiel

...... oluay
Oo b @

Steatt ()
st ,zy )
atssesst ()

BLad ¥ 30d (uld ((Soy oS- YE
e Oludi S 9.0l Glan 5
SDNA (9501 paamd! (pimgs



25- The following sequence shows the i) gy LY abindi- Yo
arrangement of nitrogenous bases on one T e A e ]
strand of DNA. st gy i TR

-DNA s ,a

/3 ... TACATACAGCCTAGTCAC ATT ..../s

First : Write the sequence of nucleotides (2 Ol 9.8 9.0 Al LIS %

on mclliNA transcribed from this (e #uiat! MRNA zalad
strand. e e
Second: Determine the number of Adia Y pataa Yl sue s 1 Lol

aminoacids in a polypeptide chain S e e 3 b
that translated from this strand. A el vguie Bladu o

ot 1 (ya L5l @i

26- Show only by a labelled drawing the LS ps dazd @ Il i g- ¥

structure of lumbar vertebra. (o2 Al 5,28 1 T i




27- Look at the following diagram then
answer:

Which one takes a longer time , primary
response or secondary response? Why?

e @ Joldelt JSEH guyal - YV
z(;‘:iLQ.G

PECIRIRE ARt , - WP Weh
Bl ¥ al 439 ¥ e Lot

first Second
infection infection

Concentration of antibodies in the body fluids

:

S13Let 5 S g3l | due Lial

28- Choose only one question (A) or (B)
then give reason:

A- The spore mother cell inside the ovary of
the flower divides meiotically.

B- Maturation of fruits and seeds mainly
leads to stop the vegetative growth of the
plant and sometimes its death.

1 (@) 9f (1) O 1 3adt Ay - YA

s

Aca W e gf pond| Akt plun (1)
G530 55030 piaste o3

LI ooty Hleitt gy a3 (<)
Sl gl Jocdaas 1)
4iga Blaly alalt
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29- Choose only the right answer of the
following:

- Histamine substance is secreted at the site
of injury through:

mast cells and basophils .
basophils and neutrophils.

neutrophils and monocytes.

®OeE

natural killer cells and phagocytes.

30- What would happen in case of:

Shortage of ATP molecules at
neuromuscular junction.

dadd dovonal! Al sl -Y4
1k Lao

dalaie 8 (yeoliugtidale ) pad

Booooc LT Gy e Ll
el g A Hlatd @
. Alslaiadlg Ayclat) @
319818 99 Adalatial! @
deaaldly dacdali ALY @

B puiSH

sie St 13Le =Y
cblad) 3 ATP olije jam
S liaal! uaall

31- What are the results of:

Fusion of the integuments with the ovary
wall in the flower?

1 ole A yial) LY Lo -
Sl pe Ay gt Aale zlews
88,0331 B ol

\¢
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32- Write the scientific term of the JI elall zllamel| CLSH -¥Y

following statement: 1AL 5kl Gl
A protein substance secreted from L o) 445 ’.4-«-’&*33)-';13‘4‘-‘
T- helper (Tj;) to activate B-lymphocytes. da il Bue Lusd) (1H)
per (1y) v ymphocyt BB M,
33- What would happens if: s e Sty 13Le Y'Y
The level of glucose in the blood ATl B 58S slont| A s

decreased?

\0
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34- Choose only one question (A) or (B)

and then answer:
Compare between

A- The immune role of tonsils and Peyer’s

patches.

B- Antigens and immune receptors.

1@ (@) 9f (1) (ot guaadt o § p0500 Y8
1o o8

ol g (i3l e Liadl g1 (1)
QM‘} wa‘ (u)

Jae L)

AN}
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35- The figure below shows the structure of | aoi o5 Jies ST IS -0

a cell organell , look at it then answer: rol Les i | @ dupal s Sluae
First : Write the names of labels (1) and (2) | .13 ¥ aute gous Lo st - ¥4

Second : Mention two types of proteins ORO

within the part no (2) which play e - SR
\ : ) Lol

an important role during protein : ”d B Hﬁj’d" y

synthesis. 2 @2 Ol g A g !

< Dgs Olealig (Y) =5t

: Q O30 g et Blan £ L Lol

. 1 (Ve

AUGUUUECC

X

Iy

36- What is the role of each of: Ja 1 (pe JS s pgis g1 jeutl Le ¥
The amnion and the chorion during the S ole JS Jood £l oLl
pregnancy (each independantly)

v
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37-Choose only one question (A) or (B)
and write its scientific term:

A- Short stem in which its leaves being
modified into floral parts

B- An acid acts to hold the coat of the
female ovum.

(@) 91 (1) ottt gmiadt A § 5t YV
1 polal| mllaiael) COS) @3
Lgdygl Coygs 8wl Blu (1)
REPRUSUPES (WP
Cluled e Jany pae> (@)
Bl et B Buin g | AR

38- How to obtain plants able to fix nitrogen
in the soil?

QLo Lo Jguamtl (ySas oS YA
4y B [y 9y Sl e 3013

39- What are the results of:
The pollen grains fail to germinate on
the stigma of the flower?

A

1le Mﬂd‘@m‘ Lo -¥4
..\.’«.ctLE.U‘g}‘uu Olol ane
SJLAJ'Y!M\,,.A‘,J.: Lgbo g
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40- Choose only the right answer: 1L e Avomaal | Ayl S50 - ¢ ©

The infective stage to human during the Blix 593 58 Ol T (guinadl glat
life cycle of plasmodium malaria is | 90 Liydletl agange) S Juals
(@)  merozoites. ' s (D
(®  sporozoites. TXTRYPPOOR [y (2
@ gametocytes. | i VPN (Y POR ] @
@ oocyst. - o2l yus @
41- What would happen when: ; rie Grdomy 13Le - € )
Absence of DNA ligase enzyme from the | Lo (el 1 SR bl
nucleus of Eukaryotes . IR
42- Choose only the right answer: | dadd Asvouall a1 I -EY
1Tk Les

- The fertilized ovum is inserted in the P ‘ ..
endometrium after ..... e B gl b

(@)  one day of fertilization. ‘ohasFiuarumtyps (D)

(b)  four days of fertilization - has Y asrsbizas (@

@ five days of fertilization. corbeas ¥ das ALy s @

(@  seven days of fertilization. ' s SPIR, o s ()
\a
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43- Choose only one question (A) or (B) then
draw only a labelled diagram for it:

A- Reproduction by sporogony in bread
mould.

B- Formation of new filament in spirogyra
algae starting from zygospore.

(@) 9l (1) o1 5t | Sy £ Y
ALS 20 Jadd @ty s g @3
z&LSL«....J‘

.}.g.:u&a;,mgsﬁmﬁ.:g,sm'(i)

J> 10 gt gt L Bt ()
cdbs (o code das SL)

s gy

wjailleig o



44- Look at the opposite figure then 1ok bas o @ (ol (IS iyl - £ €
answer: Syl gy o huniall g 3 S50 Y g1

First : Mention the type of the joint and Sauags el Aae 1 sk o Lo Lt

the type of its movement.
Second : What are the characters of these

ligaments?
dabyy
Anterior @ @_"
cruciate Posterior
ligament cruciate
ligament

el b
Medial
collateral
collateral (B~ 3 ligament
ligament (g / 5 Lol
dolyy ~ 4
ol

Y\
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45- The sequence of bases on mRNA is. dot jdis (s Elalal (ST ity - £ 0
m.RNA

'5 AUG CCG GGCCGC UAA......)3

First : write the sequence of bases on the | acesg,cd) aelgat aulis Los| :ix,‘t
transcribed DNA from it. e 90l DNA day 5 ol

Second : Mention the name of the enzyme | . saionr 3w eut Lsar Lo
used in this case, and what 1s the

R ol mMRNA Lo
source of mRNA which is used as a f ) -
template to build up DNA strands? SDNA dadira elid calas

Yy
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